model13 residuals za,az vs za. (encoder table not included)
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model 13 residuals errors [asecs] with encoder table vs az,za

1 div= 5.00asecs

errors each 5.0deg
zo max avg rms
all 20.4 5.7 3.2

516.6 55 3.1

10 16.8 4.6 2.6
15204 54 32
20200 6.6 3.4

az za  model coefficients
-39.29  -98.35 constant
-8.37  —-99.44 cos(az)
97.29 —-8.62 sin(az
49456 320.45 sin(za
-853.92  —420.45 sin(za)xx2
-2359  -10.84 cos(3az7)
—-13.42 -7.59 sin(3az)
9.46 —-6.49 sin(za—balance)*cos(3az
102.06 -0.90 sin(za—balance)*sin(3az
315 0.20 cos(2az
-1.85 0.49 sin(Zaz
-2.09 -0.16 cos(6az)
0.74 -0.02 sin(baz)
?s chisqaz ch@qza rmsAz rmsZa rmsTot
93462.6 60158.3  7.27 583 9.32 model
5.52 346 6.51 model + encTlable



